(PRTR )

1 16 zkg/ mg-TEQ/
0 0.8 0 0 0.8 37 73 110 110.8
3.9 0 0 0 3.9 0 4.1 4.1 8
2 0 0 0 0 0 0 200 200 200
3.4 0 0 0 3.4 890 2.300 3,190 3.193.4
10 14 0 0 0 0 o| 2,383 0 2.383 2,383
0 0.1 0 0 0.1 0 185 185 185.1
4.4 1
_2,3_
0 0 0 0 0 0 110 110 110
2 0 0 0 0 0 3.000 3.000 3.000
- = s = 0 0.6 0 0 0.6 0 0 0.6
4.713.1 0 0 0| 4.713.1 0 7,980 7,980 12.693.1
0 0 0 0 0 1.5 16.720 16.734.5 16.734.5
16 0 0 0 16 0 140 140 156
6 0 0 0 6 0 55 55 61
0 0 0 0 0 0 650 650 650
= 0 0 0 0 0 0 52 52 52
54.692.7 0 0 0 | 54.692.7 0 16.285 16,285 70.977.7
170 0 0 0 170 1.9 1.800 1.801.9 1.971.9
3 0 0.6 0 0 0.6 0 31.016 31.016 31.016.6
6 0 0.3 0 0 0.3 1 1.012 1.013 1013.3
22 480 0 0 0 480 0 0 0 480
3 29 0 0 0 29 0 220 220 249
7 0 0 0 7 0 0 0 7
2- 32 0 0 0 32 0 280 280 312
2- 210 0 0 0 210 0 270 270 480
0 0.3 0 0.3 11 67 78 78.3
2 0 0 0 0 0 120 4,600 4.720 4.720
1.4- 0 0 0 0 0 0 18,000 18000 18000




b= 4= 0 0 0 0 0 0 250 250 250
b, 8 1,100 0 0 0 1,100 0 0 0 1,100
o 160 0 0 0 160 0 9,800 9,800 9,960
10,790 0 0 0 [ 10,790 0 3.100 3,100 13.890
50 0 0 0 50 4 13.000 13.004 13.054
- =N- 0 0 0 0 0 17 0 17 17
N,N- 0 0 0 0 0 0 13 13 13
258 0 0 0 258 0 53 53 511
0 0.1 0 0 0.1 0 0 0 0.1
732.2567 0.00002 0 0 | 732.25672] _ 0.026 1852.852 1852.878] _ 2585.13472
1.3.5,7- [3.3.1.13.7] 0 20 0 0 20 0 300 300 320
200 0 0 200 0 5.800 5.800 6,000
0 0 0 0 0 415 415 415
0 0.3 0 0 0.3 8.1 21,060 21.078.1 21.078.4
1,0,1- 0 0.1 0 0 0.1 0 0 0 0.1
12,900 0 0 0 [ 12,900 0 540 540 13,440
1,3,5- 1,603 0 0 0 1.603 0 0 0 1.603
3542256 0 0 0 [ 354.225.6 810 912,040 912,850 | 1,267,075.6
0 0.3 0 0 0.3 0 271.000 271.000 | 271.000.3
0 0 0 0 0 129.7 1.712 1,841.7 1.841.7
2.400 0 0 0 2.400 270 0 270 2.670
- 0 0 0 0 0 0 53 53 53
0 0.1 0 0 0.1 0 0 0 0.1
62 0 0 0 62 | 2.522 16,000 18,522 18,564
o 0 0 0 0 0 50 0 50 50
- 0 0 0 0 0 0 110 110 110
D= 10 0 0 0 10 150 260 410 420
66 0 0 0 66 93 7.830 7.923 7.989
Tn- 0 0 0 0 0 0 49 49 49
2 0 0 0 0 0 0 29,518 49,518 49,518
0 6.6 0 0 6.6 0 0 0 6.6
265.7 0 0 0 265.7 0 0 0 265.7
0 2.2 0 0 2.2 6.6 11 17.6 19.8

):
120 15 0 0 0 0 0| 1,435 0 1,435 1,435
( )= 0 0 0 0 7.8 95 102.8 102.8
0.6 0 0 0 0.6 0 1.2 1.2 1.8
0 0.9 0 0 0.9 0 172,992 172,992 | 172,992.9
0 0 0 0 0 220 0 220 220




10 0 0 0 10 0 85 85 95
2- 8.2 0 0 0 8.2 0 14 14 22.2
36 0 0 0 36 0 63 63 99
o- 230 0 0 0 230 0 1,200 1,200 1,430
444,938.2 33.3 0 01]444,971.5 | 9,191.6 | 1,592,473.3 | 1,601,664.9 | 2,046,636.4




